% 20 BITEPER

B (&% ¥ R 1 # B OM 3
1—1(1—2|2—1|2—2|2—3|3—1|3—2|h11| $H2 |h12|$32 ©33| b4
9 il HEOH 1
/ T AR EENELE 2
15 3
)= 4
5
6
PAE - AuRE | 1—1[1—2|2—1|2—2|2—3|3—1|3—2|h11 1’)2‘1’)12 32| H33| H4
9 | K [##4#S-EFBERS W% B|IR B |8 $#ex B B E HEa-AT
/ 7 A MBTERSE B L ARSI EIE IR A A E G AR R Ak
16 S|t B | E | E ||+ B(rxEErE X B OH
X AEIEIEEENEIE IR R E
5|1 E | & |2 | #% B R KRlaex BB KRR
RYDERT15:35 L T418:00 6|8 | E|@E @38 @E|E| @E|&E 38 & &8 @3 &
IR TAM B R 1—1/1-2[2—-1/2-2|2-3[3-1/3-2|b11| 12 H12|$32|133| 14
9 | BN [AREL 1|E7| BT | BT BF BT |#7 | #7| ¥ BT BF BT #7|#¢7
/ T AN TR EENELE 2| BT BT\XET BT \|\ET| 87T | 8T | 15F% BT 5% |\ ET 8T | 8T
17 3| &T ET|#T w7 |\ T |ET | ET|EE | BT 5%\ #tT BT BT
7K 4
5
RYDEKLT11:50 T2 TF#12:00 6
ATHAAR T AF2R B 1—1]1—2[2—1|2—2|2—-3|3=1]3—2|b11| 12| h12$32|$33| >4
9 | M [7vHEstn2-348 147|427 | %7 87 &7 | BT B7| ¥ 47 B |7 27 BT
/| 6 [EE#IES 2| ¥T %7 |BT BT BT |ET ET| ¢ | %7 & BT ET ET
18 wEHY 3| | | E|F B | R E|rgax ¢ a1 | E
K 4 B X H B R EXZ|HERE X E
RBYDEKT16:00 524 FH18:00 6| RIHF & BB % B F BH B #E &
2EHRBFAEG 1—1|1-2[2—1|2—2|2—3[3—1|3—2|h11 192‘1912 132 433| 4
9 | IR R E| X2 &R FERLR X B HE
/|8 2|} R F BB E #|rz & B axow FH
19 I B R K E|E F|H E BRKRF B
= 413 M| B 5 OB E EnxR BIH R X
5|2 | F 2|2 FIFRRFIZRFRFRERFEF
RYNDEILT14:35 T2 TH16:45 6
9 |[RFVIMTZR FHREMRZFRKRE
/
20
T
9
/ |EEBKRER
21




